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Note : Answer from both the Sections as directed. The figures in the right-hand margin indicate marks

Wg,/Section-A
ffiqfrfu( qrr\ d.sf,{ aftr- [1x10=10]

Answer the following question-

(a) FE q t ot< sd @t qunfr [fr fr $Ifr-n rS t-
r. rfi G rre-{ 2. F4t4{ 3. wre vs cPffi 4. qIeT 6I €ltF

Which of the following is not inclnded in the fisede capital of the firm-

l- Lan<l anad building 2- furniture 3- Plant and machinery 4- Stock of goods

(b) o-{-4t rrq fiqr orEftqq t-
1. 1948 2. 1950 3. 1952 4. 1954

Employees state insurance Act is-

1. 1948 2. 1950 3. 1952 4. 1954

(c) qrfi=q eMFro frffi ftqq o1 tvrqcT os S?
1. 1s fuilfl 1e47 2. 1 qdr{ 1e4B 3. 26 ql-dfr 1e5o 4. 31 qld 1e50

When was industrial finance corporation of India established-

i. 15 Sep. 1s47 2.1 July194s 3.26 jan' 1950 4.31 March 1950

(d) otc sr ord erqrto Mi ol q-S B-
1. ?uuT tfl' 2. wTT qlw oi=Ii s. qG'S ord arqr +. 5ar ffiu< znw

Which is not the function of commercial banks'

1. Loan out z. Receiving deposits s. Doing agency work4. Assuance of currency

(e) qn-o ii dFirl f,Tq ffiq"r or r{q-$ !-{A e-q}'T fuqt el-
r. fr. fi.d. onq. fi-yrq 2. fi. d gr. {rq s. d. €.3ilr.'TrsFrd +. d. ggs'. qqq

The first use cost benefit analysis in India was-

r. Prof. V.K. R.V. Rav z. Prof. K.N. Raj e. Dr. D.R. Gadgil +. Dr. A.s. charan

(0 #+s g'rflr sIEF-qq t-
1. 1950

The bonus payment act is-

1. 1950

2. 1956 3. 1965

2. 1956 3. 1965

4. 1970

4 1970

(e)

(h)

qrEfl tl dg eil-dFrn frfr q,l drqT fus qd gg-
1 1981 2. 1991 3.2001 4. 2005

In which year small industrial policy was announced in lndia-

1. 1981 2. 1991 3. 2001 4.2005

Fq d t fus qwro orreri o1 q€nqfl Efrq ffiq qts{r n Tfi ftt T {-
r. M 2 grr15{ ,. 16;gdor +. effi

Which of the following steel plant was not established in the recond five year plan?

r. Bhilai 2. Durgapur s. Raurkela 4. Bokaro



(D qrrf, q fito-e o-r r6Err irr{trFTr tsoa tt 6-6r {aflfr'f, fuqr qqr?

t. yod 2. qilq ffi$ifr g. qqT{ 4. fuqr
Where was the first cement factory in India established in 1904-

t. Mumbai z. Madras presidency s. Jaipur +. Porbandar

0) MSME GIBfr'qq 2006 A or-{{Tri eg vffi o1 frffirr & ftART frqT d-
t- 2s Ercr t 3Tfufi s o-trs sd n-o

2- s otc t orkfr 16 ot)-€ rnd ro
3- ro o-ire t erBfi 2p 6-t€ sd ao
+- zo o-trs t orBfi 5s Enqls sd a-o

According to the MSME act 2006 the investment limit for the mannfacturing sector of the small scale
industries is-

1. Above 25 Lakhs and up to 5 Crore Rs.

2. Above 5 Croresw and up to 1-0 Crore Rs.

3. Above 10 Croresw and up to 20 Crore Rs.

4. Above 20 Croresw and up to 50 Crore Rs.

2. ftqfufuf, dg strft'q erri d sms frfuq:-
Answer the lbllowing shofi answer type questions:-

(a) ren-fr TS tnrffid Tm fr eiir ftM t

Write the difference between fixed capital and working capital
(b) ffi fr{irr ?hT epf e-orqS r

Explain the meaning of financial statement.

G) cRdu-{r Tcqffic oT o{ef erslgi t

Explain the meaning of project appraisal.
(d) d-{s t enq eqr Eqsi t?

What do you understand by bonus?

(*) d-ff vfltr +1y5-s srsri qqr B?

What are the major problems of sugar industry?

BE,/Section-B
ftqfufuf, dd-vtrft-q er-d] A vtrr dfug:-
Answer the following long - answer type Questions:-

gor{7unit-t
qR-ft'q sMFr6 frorfl tfi d sEiys \.q orqT or qd-t otfrc I

Describe the objectives and functions of industrial development bank of India.

€[a]qT,/or

rr.,q fuo ft-irq d s{feq ord yq g++1 qq-ereri q-{ Tm'd-e ftM r

Write an article on the objectives. Functions and problems of state financial corporation
gor$7unit-I t

ffi-+ gg.6-dr d efr-+E{ d e-d-d o) cd q-E-€ 6 qfi oRri r

Describe the importance and indicators of fassessment of financial soundness.

3P1q/Or
dnr qd afr lEr(]q{ T6 +s ftfu-i t

Write an article on the profit and loss account.
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EorgTunit-r u
s. dlr-td dt'tt msq q-qr B? drrrf, dr+r ffis"T q sni s-rff oft;{r$r or efi otfuC I

What is cost benefit analysis ? Describe the difficulties in cost benefit anaylysis.
oPtaT,/or

ffi G ETqrfufi qftEFf, sg-mr o) s'Tsrgt I

Explain balancing private and social returns.
qor$7Unit-tv

6. 3MFrfi E-dq t sTlrr qqr srs-i B? ve-d sqeaq vq ft{€ri} or suf{ 6Ri r

What do you understand by industrial relations? Describe its objectives and principles.
erersl,/or

slqfuff E{en t o{TtI EIII ffisfr t? qr{d +l $rl-tfufi S{etT qfr frftq q}sqrcrT oT eqT qflfrc 
I

What do you understand by social security? Describe different schemes of social security in India.

@7unit-v
7. dg wfl-q s-utT ii oTItI qqT *-Tsi t? {id qE€ oT quF{ aRi r sg stri +1 sgs s!-srti Tqr t?

What do you understand by small scale industries? Describe its importance. What are the main problems of
small scale industries.

€frenil,/or
qt{f, fr otq-mT vat,T d vqa rgs u!-{qdi qql t? rt Es m-{i d ftri aq1 slTq ftri iiT Tt *?
What are the main problems facing coal industry in lndia? What are the measures being takento remove

them?


